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Z.CAS University

BAC4301 CORPORATE FINANCE

FINAL EXAMINATION

WEDNESDAY 29 MAY 2024
16:30 TO 19:30
TIME ALLOWED: THREE HOURS

(5 minutes to read through the paper)

INSTRUCTIONS:

Section A: This question is compulsory and must be attempted.

Gections B: Answer THREE (3) questions from this section.

This examination papet carries a total of 100 marks.
Candidates must not turn this page until the invigilator (ells them to do 3¢
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SECTION

QUESTI()N ONE:

C ple is a Zambian business cval
Mino I .

denominated in Australian dollars (AUD $).
er : s : . .
the start of the project with an initial working capital of AUDS$18.,000
1e St : ’
recovered at the end of the investment period. Thig project will h

5 years. The before tax cash inflows and cash outflows over the 5 years are

A: COMPULSORY QUESTION

uating

a five -year

The cost of the cquipment wi|

foreion vraie..
SProject wiy, Cashy
Shivg,,

I be AUDg 200,00, N
Working Capital wiy be

ave anjl SCrap value at the end of

as follows.

Year |
U ADS agpe L s
Gty o> | AUDS | AUDS | Aups—
Cash inflows | 200,000 ’ 250,000 | m - ]60’000'? I\QE(NW‘
: 1
e | i s |

. S

—— - . |
—

The cost of the equipment wi > [inance / i
quij Cwill be financed 70% by a 129% bank loan while the balance will be

raised through issuance of shares with the ISsue cost of equity of AUD$2.150. The bank loan wil|

be repaid in S equal instalmen< rest rate w -
pi Jual instalments. Interest rate will pe charged on a declining balance basis. The

e ~)Q T o v 1< Qo/ Nhile > Af1ortav few N : £
ungeared cost of cquity 1s 9% while the afier-tax ISSue cost of debt is equivalent to 1.5% of the

costof equipment. The company pays tax at a rate of 25% peryear. There are no capital allowances

claimable on this project. The spot exchange rate between the Australian dollar and the kwacha is

K16.84 per one Australian dollar.
REQUIRED:

a) Calculate the base case NPV in both Australian dollars (AUDS) and in kwacha (ZMW) and

comment on the viability of this project if it is all-equity financed. [11 marks]
b) Determine the adjusted present value (APV) of the above project in both Australian dollars

(AUDS) and in kwacha values and comment on your findings. [12 marks]
¢) Using the after-tax net cash flows of the project, calculate the Modified Internal Rate of Return

Ccapital 1 5 -inv nt rate is 14%
(MIRR) assuming that the overall cost of capital is 10.5% and the re-investme

[6 marks]

drainte caused by bu
.. S >source constramts caused b
: T s capital ratiomne 1n reference to res
d) Briefly discuss capital rationing (3 marks|

dgetary

restrictions.
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¢) Briefly discusg the ady

antapes
Internal Rate

S ("‘ th M“(l‘l“k‘(l h"('” ( Cr
‘ l(ll R:” ! I v )

o | [3 marks)
Areuments supporting (e use of the APV 4
(S marks|

Project appraisal metho.

ITOTAL: 40 MARKS;

SECTION B: ATTEMPT ANY THREF (3) QUESTIONS IN THIS SF

{CTION,
QUESTION TWO

ERS ple is considering bidding for 100% of MBS ple shares, a company operating in the same
sector. The nominal values for the shares are KO.5 per share for ERS while the MBS shares have
a par value of KO.4 per share. ERS shares are quoted at K3.0 per share and MBS shares are quoted
at K2.0 per share in the market. The proposed acquisition will be financed by a sharc-for-share
exchange with sharcholders in MBS plc given one share for every five existing shares. The

proposed acquisition will increase the carnings by K13million post-acquisition.

Price earnings ratio | Share capital

Vifoﬁta]ie’:;rnings a
(# of times) \ K *million K ‘million
| ERS ple l 15 \ 300 l 1200
| 100 425
\ MBS plc \ 10 \ )
\ Sector average \ 12 \ ~

The directors of ERS plc, the bidder, prefer to use the industry average P/E ratio in valuing sharc

REQUIRED:

< 19 T ) S N > ) -AC( .| '1. )¢ [ Vi a ld [h\. SILU-L
) N L\“nl any v dlll& 1
< Ié lCUldlL th 051 ac ll S1o

[10 marks]
value considering the expected synergy.

]) ntaee chi ac > > POSL- Isitl ) > l iddinL' L IH[ RRAS
) h inge in Shn".l. VulllL I 0st nLLll“.\l“( n 101 lhk

l-‘ "l:“'l\'\]
Sl | )l ) p i ac isiti l.'ill\_‘ lh\‘ .\'hiu'L"lbl";h’dl'C
i C gs‘l lb al Vunl’dgCS ()l~ hlllllk‘lng an du.llll‘ ion v \. | l
C Bl"lCﬂ dlSCUSS an IS S b d S S ' ‘0 ;ll -
) com )yalLd l l‘()nS l() Ill;|l'|\'.'l l - na S
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QUESTION THREE

The capital structure for KT ple a A-rated firm s as follows:

K’m
Ordinary share capital (K0.4) 160
Retained camings 10
9% K100 bonds (3-ycar maturity) 80
10% Bank loan (203 5) 40
Total equity and liabilitics 290

The ordinary shares are quoted at 90 ngwee ex-div per share and have a beta value of 110,14
bank loan is expected o be amortised until 2035. The 9% bonds arc currently trading at K105
K100 nominal. The yicld on a 3-year government bonds is 6.4% whilc the market risk premiur

return s 8%. The company pays tax at 25% per year.

REQUIRED:

a) Calculate KT Co.'s overall cost of capital (WACC). [10 marks|

b) Calculate KT company’s gearing ratio based on the debt-to-cquity ratio and comment on the
company’s capacity to raise additional debt finance. [4 marks|

¢) Briefly discuss the difference between operating gearing and financing gearing. [6 marks)|

[Total: 20 Marks]

QUESTION FOUR

JM, a Zambian company, is contracted to receive R250,000 from a South African customer in four

months’ time. The company’s treasury department has provided the following:

The current spot rate is K1.3924 — K1.3980 — R
The four-month forward rate is K1.4015  K1.4051 - R1
Interest rate: Zambia South Africa
Annual borrowing rate 8% 12%

0% 6%

Annual deposit rate
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RE JUIRED).

a) Determina
ermipe how much Jm woul

rands ang used

d receive i kwacha N four months:
mark ¢t hedpe?

(to the nearest K)
forwarg exch

a mongey
b)

time if they invoiced in
Calculate

o [10 marks|
¢ Kwacha receipt for JM if they invoiced in rands and used a

ange contract cover,

Explain how IM

¢an use fﬂl'\\'ﬂl'd rate

with short-term borm\\“inu aimed

[4 marks|

ainst interest rate risk associated
atsupporting working capital needs.

agreement to hedge ag

[6 marks|
JUE

[Total 20 marks|
STION FIVE

MBS Co will shortly be making

a short-term investment and wants to borrow
St

K8m for 3 months,
arting in 3 months' time. However,

interest rates are currently volatile, and the firm is worried
about adverse movements in these rates before it takes out the loan. LIBOR (the base rate) is
currently 3.5% and MBS has been offered a 3 v 6 FRA for 3.75%.
approximately 1% above the base rate.
REQUIRED:

a)

MBS can currently borrow at

Advise MBS of the likely outcome of the FRA if the base rate in
[6 marks]

Y

3 months' time is 4%.

b) Briefly explain the importance of using FRA in the case of MBS. [4 marks]

Using the interest rates for different term-to-maturity given below, plot (draw) the yield curve
£ =4

in your answer booklet and comment on the shape of the curve (no need for a graph paper).

: 2 3 400 6
1 Term to maturity 1 M N
| _ > <0/ | 8. 0, L.\LO
| Interest rate 5.0% 6.5% 7.5% 8.5% | 8.7%
! _ i , , ,
[Total 20 marks]|
[10 marks]

END OF EXAMINATION
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Rating
AAA
AA
A

BBB
BB
B
cce

¢ of bond and maturity

rSprcad by t¥P
ries (in basis points)

Credi
Corporatt .sprcads for Indust
| basis point = 0.01%
| year 2 year 3year  dyear 7vear 10 vea 2
| . vear 30 ve:
5 10 15 20 s T 5 e
15 25 30 3 44 | o0
- | 52 ~
35 4 55 60 < !
60 75 o 73 | 290
D 100 103 n
- P4 B} '
140 180 210 205 = 143
208 )
- : 210 3 '
215 220 260 -~ 250 200
1,125 1.225 1.25 - 3 350 430
250 1.200 1,200 1.27% ‘
v I3 1,400
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FORMUI Ap

Discount factor = 1

(1 +rn

1.
SHEE}

2. Annui
nuity factop = 1 (117

r

3ORR(VIM) — L [
IIX(B~A”

4. MIRR = lN j FVCE(inflows)

PVCF (Oul[lows)

5. C :
CAPM: ri= re+Bi (rm —ry,

n
( Latest dividend
Earliest dividend) -1

gs

7. WACC =re (;X2-) +rd(1 - t)(;2.)

Ve+Vd Ve+Vd
e+

8. Corporate yield = risk free rate + credit spread

9. By = Correlationm *SDy
SDm

10. Ke=do(1+tg) * 8

Po
Correlation x with market +Std dev o
11. Beta x =
std dev of marketreturn

freturnx

page 70f7




{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

